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Rajasthan CET (Graduation) 27 Sept 2024 2nd Shift Question Paper

o : 1d ?
1 Which of the following is the largest inhabited riverine island lllal;ju'l“;m 6 Whi
(A) Doab (B) _
(C) Umananda (D) Memo )
(E)  Question not attempted ©)
ﬁmﬁ%gﬁmmmwwgaﬂqﬂm?ﬁqmﬁ? (E)
(A) [ | B) AN &
(C) IwraT (D) TN (A
(E) Cﬂ@ﬁ'ﬁ o (C
]
2 Which of the following river is not a part of Indus River System ? (
(A)  Satlyj (B) Chenab - ;
(C)  Kosi (D) Ravi
(E)  Question not attempted
Tt B 0 ot et Ry et oo s s TR R 2
(A)  Hagw (B) =9
(©) =i (D) T
(E) SoRawuy
3 Which of the following Lake is not a Saline water lake in Rajasthan?
(A)  Pachpadra (B) Sambhar
(€)  Didwana (D) Pichola .
(E)  Question not attempted
ﬁmﬁ%wﬁﬁqxﬁgﬁaaﬁwﬁzﬁaﬁ%
(A) 99U (B) :
(C) Sr=am -
(E) 3rgaf@ux @ —
4 Which of the following is the a
pplication of computer mostl - :
(A) To provide assistance in surgery (‘B)y us';: :: HTdIZal ﬁ?ld?
(C) To visualize 3D objects ~ale advertisement
D " .
(E) Question not attempted ) Te provide distance education ’
ﬁm%ﬁaaﬁﬁmamaﬁmmqqﬁa;mm R
LS : SR
(A) =g fafwaar o gemar o - BP‘}H@[ &
(C) 32 iiesaed F BTw FE . ((D) TR = o ey
(E) waf@ws - . . R ) T R wem ey
5 Which of the following is not the class!categgry of ¢
(A) Parallel Computing R,
(C)  Mini Computer (B)  Micro Computer
(E)  Question not attempted (D) Muinframe Computer |
. ﬁmﬁﬁaﬁﬁﬁaﬁqmw%aﬁi%ﬁﬁm%:? :
A)  Utera Ffen
D - (B)  WIrEmY s
i | () e v
' (E) g’g . %
All]l ¥ ; 2
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e Which Indian has won the 2023 Ramon Magsaysay Award? (Choosc the most appropriate option from below)
(A) RaviKannan (B) Kailash Vidyarthi
(C) Ghazal Alagh O (D)  Gautam Adani L0
(E)  Question not attefmpted (7)
forer ST 3 2023 7 X S e sfta (Rt 3 @ w90 Faed ) N
A) TF= C[:*; B) ey feramdt 0
€ AT - (D) Tiaw el S
(E) AqaRAYH | :i

v - et :
7 Critical Minerals Summit 2024, was held in which of the following city / U.T.?
: v

(A) Chennai \O - (B) Mumbai m
(C) NewDelhi ('} (D) Kolkata

=3
(E) Question not attempted

-
%ﬁaﬁfﬁmqﬁmmﬁz) 2024, F3F ITeX / Shganfaa J&T F aqrafera forar man? g
_,.l

(A) =% - (B) uE -;
(C) 3t ﬁ (D) hicAHTal -
53 .
(E) 3IIdia 9 ”
- idni f14-15 August ,1-9 7 is called
8 The famous speech by t; Jawahar Lal Nehru, addressed on the midnight 0 gust } 4’1
. . ot |
- (A) Tl':;fst and Cn-ﬂp'E?atiun (B) Tryst thh destiny ;
(O) Tned with dEStl]é}j (D) Tryst with honesty e,
(E) Question not atl;empted S
14-15 ST 1947 aﬁmmﬁﬁqﬁsﬁmmﬁ@mﬁm wmwww% -*?
(A) &emaﬁmﬁm B) fr=fgfEH v
) wsfagsie O D) fr=fagimeE 0
(E) A[WW@IT | g
< . y _ <3
9 The cities that were ditided into communal zones during the partition of India were- P
(A) Lahore, Bihar afid Calcutta {é}
(B) Lahore, Amrits{':i—':’ind Hyderabad -
(C) Lahore, Amritsarl_'__?nd Calcutta | wil
(D)  Amritsar, Calcutta and Jammu & Kashmir
(E) Question not atfempted L0
m&*ﬁwma:a’ruwﬁtmﬁﬁéﬁﬁﬁzwmﬂ (‘;’I}i
~
(A) @R, faen S e o
(B) @TEN, HAGaal ¥ | o0
(C) @R, Jgaat THAFI C)l
(D) HYaHT, amamﬂ}t S I :{
(E) Haia 94 B *
. [ P.T.O.

All] X

Scanne d with CamScanner



Join Telegram Group "HaryanadJobs.in"

10

11

12

13

s e i il I R i i e Y SRR . S N e n i e i i i

Given below are two statements:

Statement (I): In April 1919, the Udaipur state government formed a Commission under the chairmanship of

Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers. The Commission |
advocated various reccommendations for the benefit of the farmers.

St_ﬂt‘-‘mfm (IT): Officers of the Foreign Ministry of Indian govenment believed that a quick alliance should be made
with the Bijoliya Kisan Panchayat, otherwise the peasant movement mav take a violent form in Rajputana.

In light of the above Statements, choose the most appropriate answer fn;m the options given below.

(A) Statement (I) 1s incorrect but Statement (II) 1s correct.

(B) Both Statement (I) and Statement (I1) are correct.

(C)  Both Statement (I) and Statement (IT) are incorrect.

(D)  Statement (1) is correct but Statement (II) is incorrect.
(E)  Question not attempted

TR AT Rume s,

R TFamT F f&a 3 R o srwiad
mﬂn:ﬂmw%ﬁ%mw%aﬁmﬁzﬁwmm% =

s B b it feifaa e ST e S s T S
mm%mﬁ,ﬁmmﬁﬁﬁ%mwﬁwﬁ

= - s ) T 2 (D) =7 (1) W& ? S 9= (1) Tea 2

Which of the following is not a type of Iron ore?
(A) Lignite

- S - -
(C) Limonite (B) iderite

: (D) M '
(E)  Question not attempted ) —

Fefafea da s de 3T T THR T2 29

(A) fommz GRS IEr
©) famEmz &BS m

(E) mitauxm

try? (Choose the most 3 .
(A)  Bharat Heavy Electricals Limited (B) Hindustan Aer:n:EE e option from below)
C ’ o CS Limt
(C) 01l lnfha Limited (D) Steel Authority of Ind; L; .ed
(E) Question not attempted i
ﬁm%ﬁaauna%?mﬁgm m@m@m%? (ﬁnﬁﬁmmf&mtﬁ)
(A) T4 241 sAfaraey fafiyee (B) %mn@qﬁﬁaqwgq
A#C)  HAEa ifear famee (D) Wt iy 3§ Rfrre
(E) ZAfd gy
Which of the following is a mineral-based industry?
(A) Food Processing Industry (B)  Textile Industry
C) Fish Oj '
(C) ish Q:l Industry (D) Petrochemicals Indus
(E) Question not attempted —

frefetta % & 9 a1 afs st s 2

qced e il v

) SHEARETS
.EE) ﬂﬂﬂﬂ e o e

Aall] & ) |
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The average of 11 observations is 50. If the average of first six obscrvations 18 40 and the average of last six

14
4O observations is 55, then the sixth observation is: el |
6 |1 TRl T 3vEd 50 R1.afE veet o sraeiat w siwa 40 B, 3 sifen € SFAAEA FT 3t 552, 0 w3 SArE
1 r %:
SNV (B) 30
(C€) 40 P 20
(E) Question not attempted / \’ﬂgﬂﬂ‘ﬁ W
| tively. The length of the longest bamboo pole
15  The length, breadth and height of room are 12 m, 9 m and 8 m respectively
that can be placed 1n 1t, 1s:
(A) 15m (B) 19m
(C) 18m (D) 17m
(E)  Question not attempted | | ' '
ek AT 12 H T, 9 HY =St 31 8 Hi e @ wﬁr@maﬁa@w%@aﬁa}ﬁrﬁﬁmmaﬁﬁm
(A) 154 @) 19 :
(C) 187% (D) 17H =242
() HJaRd
16  The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?
(A) 84m (B) 110m
() 119m (D) 115m
E Question not attempted
v(ﬁ)wﬁammﬂaamﬁ 3T aderay i Srfafer TR 660 i 21 afy qor 14 T =ieT 8 aF gueht arer g < B,
(e &) T Bri?
(A) 84T (B) 110HX
KO 119HIH (D) 115HX
(E) 3rdid 9
17 A shopkeeper sold an article for ¥ 400 at a loss of 20%. At what price he should sell the article to make a profit
f10%? '
Zaaa;mmﬁ%ﬁaﬁﬁ 509 S TR T T 400 F ST 10% T AT FT & e, 38 39 a5 H fFF wma |
| ~B) T 550
(A) T 530
(C) X500 (D) 520
(E)  Question not attempted / 3TdId I
18  Who of the following social reformers was associated with the abolition of Sati Pratha?
B Vi ‘
(A) Govind Ranade E[); Rl‘:f'cl;:mn:d l
(C) Dayanand Saraswati aJa Ram Mohan Roy
(E)  Question not attempted .
ﬁ%mwﬁﬁmmwmﬁmﬁiﬁ |
(A) mfdgTTe SRS
(C) zamR Tt (D) TSI I MeT
(E) 3gafi@ua
Alll 5 [ P.T.O.
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19 “The Indian War of Independence”, book was written by whom?

(A)  Veer Savarkar (B) Mahatma Gandhi O
(©)  R.C.Majumdar ((, (D)  Baba Amte {r,
(E)  Question not attefifited wrf
T IS AR 36 e e forads g fereht méo [
(A) SRR ™ (B)  werer el o
C) A 4t weHeR E,g (D) =TT AT f:'
(E) Wﬂﬁ’ﬂﬂ i | ;_,
v
20 T A HH-91 I A 27 L0}
(A) I Y uta gt o ate s Rk (B)  wra iy utar afeat 4 g e
A=) Wﬁqﬁfﬂ%&@ﬂﬁﬁﬁﬁl (D) AT %1 UF dadt 21 ufe afef e
(E) I« s E’“‘ L[I'j :
(O )
21 -1 % |y geh-11 o ffem iR r
w7 s .
a. W?ﬁwﬂ . HAW e
b.  &d AT AR I G o SIS T ?g
c. iU YHAT) | 1. sfear foer ﬂ:
d. aﬁmam‘?‘im Iv. A P~
ﬁ%ﬁmﬁﬂﬁﬁaﬂ?ﬁmﬂmdmwwm CO
44) a-1Lb-1V,c-Jid-] B) a-lLb-I,c-1V,d-1_ E?I
(C) a-IV,b-IlLc-Iyd-1I D) a-ILb-IV,c-III,d-1 °
v
(E) oFafawa 7 .
0 ’ "

22 At the time of India’s Ifidgpendence, how many Riyasat were there in present day Rajasthg%}(Rajputana Regi

(Choose the most approﬁ”ﬁhte option from below)

S
mﬁﬁﬂﬂmmﬁ%%, AT o TS (TSI &) ¥ feferft Reamere off 2 (e o & wrardt gy forare )

(A) 29 Q (B) 19 e
© 21 -t (D) 25 r.—:
-
(E)  Question not attempted / AT 94
23 ‘Indian National Army’ QNA) was created by- (Choose the most appropriate option from bélow)
(A) Netaji Subhash (Elplindra Bose (B) Lala Lajpat Rai (")
(C) Bhagat Singh  «ff (D) Bal Gangadhar Tilak =
[‘\
(E)  Question not attémpted b

efirga e AP (), v, o e fods oy o T e (TR 3rgen e )

Tt g <iz T (B) TSI i
"((’2; méﬁ;m ':':: (D) et v foeres v
(E) A 94 |
6
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Match List-I with List-II.

List-1 List-IT
d. Chipko Movement I. Afro Asian Conference
b. Bandung Conference 1L A proposal made by big industrialists in 1944
for setting up a planned economy
C. Dr. P.C. Mahalanobis [II. An environment movement to prevent cutting
down of trees
d. Bombay Plan IV. Economist under whose leadership the Second
Five Year Plan was drafted
-1 % ar g=-11 =1 fram fhifsg
) weft-1 w11
a. [a9ehl FieIA [ wH- TRET e
b.  WIgTHEHEA N o R srderaen wfia w01 & g 1944
F 52 Safadl g/ fhaT T U SETE
c. o it e L et Fer Aa ¥ e o vatar AiRkieH
d. SR WH v,  erfumet fE IqeT § qul g=aig IS H#
THeT aar femam T ot
Choose the most appropriate answer from the options given below:
i e e fereat & & waifaes I9g® STl
(A) a-ILb-IMc-IV,d-1 "~ B) a-Lb-ILc-IV,d-II
(C) a-Ib-Lc-IV,d-III D) a-ILb-Lc-IV,d-1I

(E)  Question not attempted / ST I

In which of the following year United Nations adopted the UN guidelines for consumer protection?
ﬁgﬁwﬁﬁqﬁﬁmaﬁﬁmﬁﬁmm%mﬂﬁw%ﬁmﬁﬁﬁﬁw

(A) 1985 (B) 1979

(C) 1981 (D) 1983

(A) SEBI (B) RBI
(C) LIC '
(E)  Question not attempted

ﬁq%ﬁaaﬁﬁaﬁqﬁﬁﬁnnmﬁaﬁmsaﬁﬂaﬁﬁﬁﬁﬂm%?

(A) et (B) RS 3.

(C) wud. s, . | (D) 3%, AR Y. T .
(E) 3raiaw™ o
Who is the head of the Indian Audit and Accognts Department? |

(A)  Attorney General of India (B)  Finance Minister

(C)  Comptroller and Auditor General of India (D) Prilpe Minister

(E)  Question not attempted

I @ gie 3 S oy & wg@ FH €7 |
(A)  ¥RA & WETAaTd (3727T SATe) B) fawwt
(C) wRa & e W@ nergates (D) wumws
(E) Sqaf@wx

All] ® * A | | [P.T.O.
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Which of the following is not a Ic{;ilstilulitwllnl post? | L
(A) Speaker (Y) (B) Governor (M
(C)  The Chicf Justice (D)  RBI Governor <y
(E) Question not attempted E.H [™
Freferiaa o @ % ar v wdwnf v 78 82 00
(A)  SEET areey (efiant) & | (B)  T=49Ted -
Gl Yorant i (D) s vk e .i_--f
(E)  ST{di@ usy -

As per the Constitution oflndinﬂl}c name of a state in the Union of India can be altered by -
(A) Parliament

(V) (B) Cabinet Committee \(
(C) Govemor ‘ . (D)  President ")
(E) Question not attempted f:i ,,{; :

e E,'iau':' % STFA, Heff m%%@mmwmﬁﬁmmmﬁhﬁmmm%?

o wf - (B) e afafd o
- o (D)  TrgHfd -
(E) T7aiawx e .
Identify the most appropriate English translation of the given sentence: ri

I’ AISH AT 591 @ & e smet oy mam

(A)  Fresh air can l::se had nnlﬁutside. ~B) Hecame outtoeata littlelf:%sh air.
(C)  He came outside for a breath of fresh air. (D) He gulped some fresh air E)Efside*
(E)  Question not attempted £™ N
. i~
Choose the most appropriate Hindi word for - “Endorsement”. 3§
(2) ST T o~ (B) I AT -
(C) T8I el (D) W& T r
(E)  Question not attempted ™
'
Which of the fnllow_ing best dekgibes the function of control unit?
(A) Perform the arithmetic nﬁgrations. o
(B)  Control the operations nﬁpemﬂry, processor and input/output devices, E
(C)  Perform the logical operations. o
(D) Convert the external dat&in form understood by computer. E
(E)  Question not attempted %W
ﬁ%ﬁﬁﬁﬁ,@ﬁ@%mﬁwmwm@ Q
(A)  FFnivrdr gfaTeT &1 fAores v
(B) WA, SHHT 31T T92/3{13292 I9aR0it 3 yRarer a1 friaor ik
(C) g aicarer =1 froarg, L
(D) mm)mﬁwm@mﬁqmﬁam Ef
(E) sai@ug P 2:-
. e ™ i:
Khadi Kamgar Arthik Protsahdn-4 ojana has been implemented in the Rajasthan st ™
(A) 16 July, 2024 - ki
Ys wa (B) 13 July, 2022 [&3
(©) 14 July, 2022 (D) 15 July, 2023 -
(E)  Question not attempted ™ ™

mmﬁmmmﬁmWMWﬁmﬁaﬁ‘ﬁﬁ? P

(A) :jﬂm‘ iﬁii (B) 13 5@, 2022
(C) ﬂa‘g;m (D) 15 I[Eg, 2023
(E) 3‘3.3'““' i

All] X 8
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Match List-I with List-II :

List-1 List-II
Scheme Launched

a. Shudh ke liye youdh L. 26 October, 2020

b. Niro ?1 Rajasthan Abhiyan I1. 18 DCCCmbCfl 2019

C. Incﬁre? Rasoi Yojana [1I. 20 August, 2020

d. Indira Gandhi urban credit V. 24 February, 2021

car{:l yojana —

eft-1 35 amer 11 567 v ifdre 0
"FF‘JEI'-I @-l[ ¢ - =
'ﬂ‘fﬁf& , feraTaT

a. ﬂﬂ?%@ﬁ?&' I 26 FFE, 2020

b, ot aeem s . 18 feEsT, 2019

c.  ERuTEE A I 20 37T, 2020 .

d. T e wed hiee e Ao Iv. 24 %@d, 2021 .
Choose the most %ﬁpmpriare answer from the options given below: “'“s .
o fw o forredl f & watfares Iuge o | e
(A) a-IV,b-TIl,c-II,d-1I (B) a-Ib- "vjmdw
© a-I,b-f0c-1v,d-I @) a-NLb-1V,c-Ld-II
(E) Question no 1"1‘% attempted / EHWF{T'T e ~ ¢ *-i
Indira Gandhi Nah_:ir Project (IGNP) is better known as the life line of - (Choose the most appropriate option from
below)

(A) Southern Rajasthan (B) Western Rajasthan

(C) Eastem joasthan ' (D) Northern Rﬁjasthan

(E) Question I?i-'i’tg attempted 3t

E%Trrmﬁqawﬁfnw @s. ft. . o) 1 fefafaa § | et sEa, Gﬁqﬁ@nmw%? (1 & & 9o S9Th
(A) EﬁT‘TﬁW (B) trféiﬁrrawm

(C) qﬁmwnmi (D) Tﬁl’ﬂl‘lﬁ@ﬂﬂ%

ﬂjﬂﬁa H‘ﬂ' gt

Salt water crocnd\;}j is main fauna of which of the following binsphére reserves?
(A) Panna | - (B) Simlipal {g£}
(C) Great Nlc&r (D) Kutch ¥
(E) Question nQ attempted Sl
@ﬂﬂﬁﬁﬂﬂﬂtﬁ@ﬁﬂﬁﬁﬁaﬁﬁmsﬁaﬁﬂm‘mmaﬂaﬁ e
(A) 99T oy (B) Fmfearar 4
(C) TFET_ . D) w0
(E) aﬂaﬂ?rwgq 5_:

s

Which among théfpllowing is the longest river of Rajasthan?

(A) Khari (T} (B) Chambal ‘&
(C) Luni NV (D)  Sabarmatj ¢V
(E)  Question not attempted A
frefrRaa § & TS i gad arwsft 74 @l i 8 L
A @Rt O B) swgw O
©) Tt D) W O
(E) FJaita 94 :i

[ P.T.O.
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38  The Thar desert comprises the desert triangle of three cities - (Choose the most appropriate option from below)
(A) Jaisalmer - Jodhpur - Bikaner (B) Jaisalmer - Jodhpur - R 43
(C) Bikaner - Jaisalmer - Pal; (D)  Bikaner - Jaisalmer - Barmer
(E)  Question not attempted :
TR 3 i e s XPre Frtor anfivet &, a1 & - (P @ wardy 3wgen foeed )
(A) STHSHT - ST - e (B)  SHEEHT - ST - ATGHT
(C) MR - SHemr - el (D) ST - ST - ATGHT
(B) STaia u
39~ What is the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and puls,
launchcd‘in Rajasthan in the year 2007-20087 | 44
TSR | 96 2007-2008 ﬁmﬁqmﬁﬁaﬂtaﬁ%mwwﬁm (TH. T, TH. TH.) % {8 GOZ Td Gop
& T & Y T I 1R
(A) 80:20 ‘ (B) 60 :40
(C),. 50:50 (D) 70:30
(E)  Question not attempted / 3¥afa v
40  Which of the f:ullnwing sector plays most important role in the ecnnﬁmy of Rajasthan state?
(A) Education Sector (B) Industry Sector
©) H'Fja]tl_‘ Sector (D)  Agriculture Sector 45
(E)  Question not attempted |
TSEIH TS | A A @ s 8, TR T § ATRIF Haed ST 0H=T ST 29
(A) Rremes (B) I aEw
€) wmaEd (D) Hiwas '
(E) Sqaitayy E
41 i - :
Which of the following are cash cmps_nf Rajasthan state? (Choose the most appropriate option from below)
(A) Soyabean and Cocoa (B) Cotton and Tobacco
(C) Tea and Sugarcane (D) Coffee and Cereals
(E)  Question not attempted -
Frfefaa & & it € o tsr T G v B (7 o & Herd e ferere )
(A) HHETEE AR St (B) U i T
(C) = AR D) i
(E) Aqai@yH
42 Nafit}nal Rural Litt*elihund Mission (NRLM) is implemented to eradicate poverty for
Rajasthan state during the financial year 2022-2023, E———
(A)  slum poor (B)  rural poor
(C)  urban poor (D) tribal poor 47
(E)  Question not attempted
fartar ad 2022-23 % A dqof
; TSI Ty | g aivefion awsfiferdt e (@, s &
TRl 37 o feru fopmay gy ) i .
(A) gl e fads B)  wmtor fadq
(C) el fedA (D)  SHSTAR Py
(E) SAIaiauH
All] X 10

[PT.O. A11]

Whic
(A)
(C)
(E)

(A)
(©)
(E)

Natl
(A)
(C)
(E)

(A)
(C)
(E)

Col
(A)
(C)
(E)

(A)
(€)
(E)

Fir
(A
(C
(E

(A

(E
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Which one of the following is the oldest oil refinery in India?

(A) Haldia reﬁnery (B)  Mathura refinery, .,
(C)  Koyalirefinery (D)  Digboi refinery ¢,
(E) Questmn not attempted o
ﬁw%ﬁaﬂﬁﬁmﬁu@maaﬁmaawﬁ%? [
(A) 'E»'W'[ mﬂﬁ (B) HYT frprgas U
(© @i oy o fel a----;
(E) JIaRayA »
-

‘Doddabetta’ is the highest peak in Tamil Nadu. This is a part of which of the follo;ﬁlng famous mountain range?

(A) Pir Panjal Mountains | (B) Nilgiri Mountam? >
(® AravaﬁrMﬂuntains (D) Satpura Mountalns :
(E) Questf&ﬁ not attempted [

RIS CEL Erfﬁ%%rrsﬁ R T < 2 g e it & - g e e G M 82

(A) tﬁtwqﬁﬁ @ dafded O
(C) ama?@ﬁ?r (D) wageTveIeAl

® SEARgs ]

Nathu La Pass is situated in which State / UT of India? W3
(A) Aruna?%l Pradesh (B) Meghalaya i:}
(C) Jannnﬁ and Kashmir (D)  Sikkim :.
(E) Questmn not attempted : f_-?__
mm@@}w%mm/mmﬁm@ s
(A) STEUTEA TS (B) WU :g
(C) SV AHHR (p) Tofern ad
(E) HaRayd ~ _
Colour blind person 1s unable to discriminate behvegn : et
(A) Blue and green colour (B) Red and yellow c;%m
(C) Blue and red colour (D) Red and green cq
(E)  Question not attempted CE;)
mmmmﬁmvﬁ%mﬂamﬁﬁmw% o
(A) frem SET T B) @ e
(c) Hiar ST @ (D) T B QT il
yiad
(E) agﬂﬁ:ﬂ a4 @
e
First Indian sp,as:ccraﬂ which will carry 3 members and will orbit for 3 days in spacl is :
(A) Bhaskan3 (B) NISAR [:f
- D S i
(C) Gagariyaan (D)  Spadex ED

(E) Questﬁ} not attempted
mqmaﬁﬂmﬁsmﬁaﬁéwnaﬂtaﬁmﬁaﬁaﬁqﬁ;%qm b

(A) e A (B) T3 Uy vy -
© W (D) ¥
(E) Aaita 94

11
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48  Which of the following is not the allotropes of carbon?
(A) Diamond (B) Fullerene

(C) Ethanol (D)  Graphite
(E) Question not attempted

fr=fafad # & SF-ar w5l w0 sy Qi) @ 27

(A) TSNS (B) el
L) T« - (D) W%
(E) uia ¥

49 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?

(A) 18" Constitutional Amendment (B)  15% Constitutional Amendment

(C) 16™ Constitutional Amendment
(E)  Question not attempted

forer st e et 3 s =marers 3 =it 6 dafat TG 60 AT H FGIFL 62 T L 412
(A) 1837 Eidu= g3 (B)  15art d@feum demas

(C) 1691 Hiaue @3y (D) 173t Gfam g

(E) I7Ra 9%

(D) 17* Constitutional Amendment

50 Match List-I with List-1I1.
List-1

List-II
a. Goods and Service Tax L. Article 82
b. Delimitation Commission I1. Prime Minister
C. Survey of India - III. ~ Dept. of Science and Technology
d. Dept. of Atomic Energy IV. Article 246 A
G1-1 = @1 g=1-11 &1 fiem Sifsg

geil-1 eiI-11
a. 9% UEHATH I  AT=3< 82
b. gt 3mamT I oAt
c.  WRAIT GA&I0T (Td AT feam) M. a9 o Wenfieh) fangm
d.  URHI ST famT IV. 3TT=9% 246 A

Choose the most appropriate answer from the options given below:
14 faw e forsredt ® @ waifaes Iugw S|

(A) a-ILb-IV,c-1,d-III (B)
(C) a-IV,b-1Lc-III,d-1II (D)
(E)  Question not attempted / aﬂﬂﬁﬁ aqa

a-Lb-1Lc-1I,d-1V
a-1V,b-IlL,c-11,d-1

51  The concept of ‘equality before law’ is an element of the concept of *Rule of Law® which was propounded b
(A) Ivor Jennings (B)  Paul Janet Y
(C) A.V.Dicey (D) Lord Acton
(E) Question not attempted
T 5 WU GHIAT ) AT & 3 QT o) STAUnIT i U T 2y ﬁmmﬁﬁmﬁahw oo
(A) ImEaT St (B) Wiel S '
4C) et (D) IS TR
(E) 3133'&(‘[ 94
| 12
A1l ® .
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57  The actual growth rate achieved in the 11" Five Year Plan was: (Choose the most appropriate option from below)
| 1 et vt i et At gfe v s o de (e i & wad 3T faeeT )
(A) 10% (B) 9%
C) 8% (D) 7%
(E)  Question not attempted / 3T R wer
53 GST Council is a Constitutional body established under the following article:
e O AT IR T Hwies e R, Rraeh ot Rrefrfaa # @ e 3= o stwaria i s 22
(A) 122 B) 279A
(C) 184(1) (D) 247
(E)  Question not attempted / TR T
54 Which of the following tax generates maximum amount of revenue for the Government of India?
(A) Corporate Tax (B) Income Tax
(C) Sales Tax (D) Custom Dutiles
(E)  Question not attempted
PR & & 1 |1, YA ThTT 36 FR7g Hatfires Tsre oh1 JUTei hid 87
) famfia (@Eie) (B) A H
(C) fshra (D) HHTYH
(E) aid 9
55 Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D) Alcoholic Liquor
(E)  Question not attempted
Frerferfiaa i & 7 T T ST A Ry & e ¥
(A) g e (B) Tehfaek 19
£C) d=TE AD) HEE
(E) Iguiay™
56 Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was
offered a jagir in Rajasthan, he would choose that fort ?
(A) Nahargarh Fort (B)  Chittorgarh Fort
(C) Taragarh Fort (D) Bhainsogarh Fort
(E)  Question not attempted
frfafiaa & @ fra fra Fr gewar & sifinga g forfear sfaTaem Sivr Sre 3 et fih, a2 378 Treteam # foneft S At
SroraaT 1 ST, a9 g€ 39 fohet &t AT ?
(A) ATETTg foa (B) fuxiteng frem
(c) anng fara Dy WarTg feem
(E) &Aqaiaad
57  Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A) Shekhawati (B)  Hadoti
(C) Mewati (D) Vagri
(E)  Question not attempted
ataaTer, ST 311 TaF STTHIR & TE1] &Y 31 @ T ST St STy 89
(A) Sr@rardt (B) wrexd
(C) Hawdt . (D) anrsh
(B) Agaid 94 ‘
All] - [ P.T.O.
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S8 In which year was Kalbelia dance form included in UNESCO’s intangible heritage list?

W%mﬁﬁnmﬁ@mﬁwm@ﬁmﬁﬁmmwgg

(2) i‘“ L vy (B) 2008 )
(€} 2009 wy (D) 2010 -
(E) Question not attempted / ﬂiﬁﬁﬁﬁﬂ fh
o (Y p
59 Fill in the blank i : .
¢ _“g:uth the most appropriate option : JJ
mmﬁﬁﬁﬁmﬂm. A )
. 9,28, 65. 1%6,H ' g:ﬂi
Suf Yt Tt -
C) 194 LS EE)) 234
(E . W& 6 _
3 ) QUESUG{Q‘_&?M attempted / Hﬂ'ﬂﬁﬂ B t‘g;;
In the given question, choo ('}
1 question, se the number letter groy ' -
e P which is different from th
l Zq)wiaﬁaﬁ'ﬂw ST T T ST 377 F o7 2 S EThm
E3 () '
C) XL2 ¢ 8)  PH3 iy
E) | {:} (D) IBS -
Questionnot attempted / aﬂﬂ'ﬁﬁﬁﬂ ‘
I 61 When A, : -
was Rajasthan Information Commission constituted 2 i
() April 28, 2006 B)  April 18, 2005
B il 18+ pril 1s,
i _18&52006 (D)  April 28,2005 ‘&
(E) Questmﬁnt attempted ’ 18
(TSI Gﬁmmmww it
_ (A) 28 31, 2006 .
- 3'3“&? (D) 283de, 2005 OO
~ - iy | -
62 Which of the following position i = v
JLIC g POsition 1s nof mentioned i th ituti : ;
(A) Loksabha Speaker i f;)nsnt;n.ﬂn ﬂhf;m.:ha? 1
(C)  Chief Minister e s o
| | D) D ief Mini
(E) Questio%r_iut attempted £ ok Mm’fﬁr
ﬁn%maﬁa‘@q.amwwmﬁemaﬁﬁmw%? ™M
(A) S ”% B) wurHst <
©) Y (B) o
qeaHAt | (D) 39 e |
E v -
(E) 313?1’?{?{@ o0
6 * .
3 211)19 anézng the gpllﬂWIHg commonly serves as the Chancellor of State Universitie?;q
vernor : '
s B Prime Mini
(C)  Minister of Education ED)) Chi : ‘lﬂ‘lﬂter a
i nef Minister
(E) Questlunmut attempted Yo'
ﬁmﬁaﬁaaﬁ&m:ﬁqmﬁﬂﬁﬂmﬁ%mﬁmﬁrﬁimﬁmm%? (v
(A)  Teagrr < B) WRER e
(©)  fwar st > (D) FEwh -
(B) a4 |
64  Geostati C?ﬁll' g
costationary sats Ites are positioned at kmu d dist:
| pward distance from earth, rfa
et ST o ST et e T S U I S
(A) 45990 (B) 26000 1
(C) 36000 (D) 55690
(E)  Question not attempted / 37w wsy
All] & 14
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65  Concentrated nitric acid (aq) reacts with copper to give
(A) Copper oxide and dinitrogen oxide (B)

(C)  Copper nitrate, nitrogen monoxide and water (D)
(E) Question not attempted

|15 31 YRS (aq) it (o) & 31PifFar ok et 2-

(A) HR ATHHIEE T STEATRZISH HTFES (B)
(C) HMATIE, TEE R TgS U qrefy (D)
(E) Cﬂ'j'ﬂ'ﬁ?r H

66  Son river is a tributary of which of the following?
(A) Narmada (B)
(C) Yamuna (D)
(E) Question not attempted
oA g o foraeh gers T 22
(A) THa (B)
(€ =T (D)
(E) AaRa 9y | |

67  The Southern most Himalayas are known as ;
(A) Aravali (B)
(C) Himadn (D)

(E) Question not attempted

G (Faw) o fenrera sl fobd A @ ST ST § 2

(A) AT 4B
(©) fewmh (D)
(E) 3Idia 9

68 ‘TTer, YIe2 fore HT hT ISTETT &7
(A) WEETE® (B)
(C) wafwraras® (D)
(E) i@y

69 T3 & Brar & amra: foRaa 9 14 &7
(a) 9= )
(C) dH (D)
(E) HAFARATA

70  frg aurE f @yl 98 quTE B1d €7

“A) i

© T ‘D)
(E) Iaiayd
(A) mﬁﬁﬁﬁﬁﬁm (B)
(C) HIaad 5)
(B) gaRasd

1S

All] R

Copper nitrate and hydrogen gas
Copper nitrate, nitrogen dioxide and water

HTTT ATFE U BIEZISH 4 -

Ganga
Mahanadi

 Shiwalik

Him:

INEIRED
femrea =

vHedliEen

STfdar=es

ar
IR

&l I
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(:\)  Six

(&) l:‘i\*e

)

() Question not attempted

l 1 :} ':u%lgm Rt ¥ s 7 ok
") W

) ¢ 1({
(B) L’ _’dftﬂw

PR Arrangg the following words

HOw many numbers from 11 to 70 are there which are exactly divisible by 7 but not by 37

(B)  Nine
(D) Seven

\0

WIS R ey 3 31T 8y
@) A

(D) I e

0

according to dictionary arrangement: -

Wmﬁﬁw(ﬁwﬂﬂ)mﬁwmﬁmwi

Exccpt

\
. F:\\ h‘. Eﬂpttt.;
a \E‘ L0 d. Exit
W00SC AR most appropri Ve : ! v
( \' dppropriate answer from the options given below?
ﬁﬁﬁ@%ﬁﬁﬁﬁﬂﬁiﬁfmmﬁmﬂﬁl ) Ow':f
A0 o d.b )

(©) a.d.¢

(E) Question not attempted / ARG Wy

y

(B) b, dral'c
(D) ¢, dfayb

Q0
74 Choose'the venn diagram whi ‘ .
, agr ch best illustrates the three given classes:
ST ARG T N R e it e e - &, ™
Flowers, Red, Fruits. ' =
o, N SIS
- ®)
v (D)

76

All ]

(E)  Question not attempted / 37Tafe Wiy

¢ i A :
Which opthe following two states have a joint plan under Mahi Pr

(A) @aﬂhaﬂ - Haryana
(C)  R3jasthan - Punjab
(E) uestion not attempted

njEcJt? *

(B) Raja&s}han - Madhya Pradesh
AR

(D) Rajas$3n - Gujarat

3 2 R %
U R R < Tt 3 e ST e v e E

(A) - Bl
(©) - 41
(E) o

The chidatteristics of computer in which, computer ¢

known &%3)
(A) Diligence
(C)  Versatility

(E)  Quéstion not attempted

. Q0
(B) TSN - Weq wayy
(D) TSR - TSI
|

an perform different types of :
\D asks with the same ease 1S

®)  spedd]
(D) Reliﬁuty

Sz e -4t fafinean &, Rt s vt srae o a1 AT et ey gy
nfa

(A) =aar
(©) g
(E) rgafaww

X

(B) . ey
(D) R H‘:“‘“”

16 *
[ P.T.O.
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79

80

81

Al1l]
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Select the related word from the given options ;
Animals : Zoology :: Blood : ?

(A) Entomology (B)
(C) Pathologyv (D)
(E)  Questionmot attempted

few e faeret o @ wifira wise w51 w1 Hifv.

SIEEIERE CIERICIRR G

(A) T (B)
(C) vuiArST v (D)
(E) qafa war!

628, 429, 183, 249, 416

Hematology
Anatofhy

L £

f-ll':?.

From the above géﬁuence of given numbers, what is the sum of the unit dlglt nf third number from left and tens digit

of the fourth number from the right?

IR A T RN F W i, A | < T Y T ¥ I waa%ﬁaﬁwaﬁm%mﬁ 3 FTAT 7

(A) 6 0
C) 5 C“)
(E) Question't ncit attempted / ﬂﬂ'ﬂﬂ‘d I

_(B)
(D)

3 »
7
7

'H.

a
‘h.

o -"f.ll\.

'l :I

Sushil 1s the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi is. the only son-in- ‘law of Bhumi’s mother.

How Ravi is related to Sangita?

(A)  Brother-in‘law (B) Grandson |,

(C) Uncle N * (D) Husband of gl;anddau ghter

(E) Questmn!;:at attempted

SRS a{jﬁ?ﬁﬁ%ﬁmmmﬁél T »ffi <l HTAT 6T Tk AT SIS 81 r%ﬂarﬂmﬁwm%?
(A) T s=r FIT r-i (B) W= Oy

(©) Dy Ut Fr Ui £

(E) aﬂﬂﬂﬁﬂ-ﬂ e

Who among the l°fr.{ll:zw.w'lng established mnb:le reading rooms and libraries at various places in Rajasthan?
(A) Komal Kgl)nan (B) Pt. Jhabar Mal Sharma

(C) Acharya QTISI (D) Swami Ke:shwanand

(E) Question &qt attempted te ﬂ

mﬁﬂﬁﬁm%wmﬂmwwmmﬁmﬁ?

(A) ﬁqﬁﬁ@ﬁ (B) ufved simer Het ymt
(C) (D) TTH FIEHS:
(E) Hﬂﬂﬂﬂ 94 )

\O o
Which of the folldwing leaders led the Bijolia movement? ik
(A) Surendra‘Singh (B) Vijay Singt!if‘iPhthik
(C) Chuna Rﬁﬁ Punia (D) Kanwar Vijgfoal
(E) Qucstionqgt attempted !:!
Prerferferr & & févery farsiifera aridter o1 gt foram? ”
a) gl (B) frera fife wfires
(C) ST g (D) Wﬁ“wg
(E) 3{aRa 9 il

® 17
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82 Barkana water falls is situated in which of the following state of India?
(A) Odisha (B) Karnataka

(C)  Goa (D) Tamil Nadu
(E) Question not attempted

ﬁm%muaﬁﬁﬁw%%qwﬁmmwﬁm%?
(A) fesm (B) I

(C) T (D)  dlerrg
(E) rqufta wy -

83  Which of the following mineral is non
(A)  Graphite
(C) Coal

(E)  Question not attempted

ﬁﬂrf%ﬁqaﬁﬁﬁqm@ﬁawﬁaﬁ@wﬁﬁm%? 3

(A)  U%EE (B) wrfe o
(C) =Fem

(D) uAferam
(E) Sai@uy

-metallic and inorganic?

(B) Natural Gas
(D)" Petroleum

8
Read the passage and answer the questions that follow: (Q. 84 to

87)
Show me a doctor who 1s not confused about nutrition and I will show you a doctor who has not kept up with research
Though nutritionists like to claim that basic nutritional advice

does not change from year to year, the truth is that each wee}
brings new studies, new research and new health warnings. Nor do all the studies agree with each other. Often they ar:
contradictory and further confuse lay people.
Part of the problem

1s that many studies are financed by the food industry,
much of the so

-called nutritional wisdom that has been propounded over th
out of the commercial interests of those passing on the advice.
The most famous example of

which has a vested interest in the outcomes. An¢ 89
e decades does not emerge out of pure science bu

this sort of thing may be the rule - rio;

for your health.

You can trace the roots of the advice to (surprise, surprise!

Kellogg family (owners of the €ponymous cereal company)

It has always been a peculiarly Anglo-Saxon idea. People do eat

attach such great importance to it. Nor do countries without a bre
Instance, in France, breakfast may well
absence of solid food i
France in the

) the American cereal Industry and to such food faddists as the

breakfast all over the world but they do not necessaril

akfast tradition see a sharp decline in public health. For

last decade or so, the French had much lower rates of heart disease than m
In the US, the bogus breakfast orthodoxy has led parents to feed children sugary cereal

syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the brenkfast-is-essential myth ha:

actually contributed to a decline in American public health, the obesity epidemic and to tooth decay. Manufacturers o
sugary cereals are quickly putting out new ‘low-sugar’ variations.

Some doctors still insist that the first meal of the day may be the most important. But the scientific evidence supports the
view that if you avoid breakfast nothing terrible will happen to you,

-Speaking countries.
S and stuff like pancakes with suga

84 Complete the sentence by choosing the correct option:

91 j
In reality the benefits from advocating the need for taking breakfast, ,
&%) food Industry (B)  general public (
(C)  French people (D) children (
(E)  Question not attempted (]
All] X 18
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85  According to the conclusion of the passage, breakfast -
(A) Contributes to an individual’s health. (B) Is essential and not to be skipped.
—«C) Skipping cannotharm you. (D) s the most significant meal of the day.
(E) Question not attempted %8
et oy
86  In America, obesity T?d tooth decay have assumed the proportion of an epidemic because of the -
(A)  Consumption of savoury food (B)  Vested intcrest of the general public
JL)  Consumption of sugary cereals. (D)  Greek idea of bréakfast.
(E)  Question not attémpted =4
v v
87 Bogus means :
(A) Confident L (B) False Te
| S N (D) True )
(E)  Question not attempted 4!
- [~
88  Identify the most appropriate idiom which can replace the underlined words: CJ
Rohit has the reputation of complicating and confusing things when any issue is'raised in the meeting.
(A)  got our wires trossed | | (B) as clear as mud .
<€) muddying the Waters (D) in complete sharﬁﬁes
(E) Question not attempted
\O &
89 Which of the followifigifacility is mainly provided by E-mitraplus initiative of ""ﬁsthan?
(A) Video conferencing "“?
(B) To apply for birth certificate, domicile etc. t""
(C) Payment facilfﬁ}(}fur individual firms ' | e
(D) GIS based Dekision Support System c:f
(E) Question not a’ﬁ'émpted Z
FreforRad o & 1 € gl gerd: Tore i §-frer gee g yam it S @
(A) difear wkET (B) T SHTOT O, frae o forg v o
(C) fafire ufawri wyapTar i glerur o (D) . 37, TE. i fofa e yomed
(E) gurasa (3 g
<
90  Which of the following-input device is used to input temperatures and moistare etc.?
(A) Sensors 0 (B) Web‘-‘:ﬂm g
(C)  Scanners - (D) Joystics H -
(E) Que;t;}r;:;t aﬁémpted A e - aﬁﬁ‘%éﬁﬁ B
(A) T ! (B) duH O
O (D) SafEaw
(C) W r . (V)
(E) &afda4 ! ;‘i*
91  Identify the word thagn best substitute the given expression. ((1;
One who :tq tctn strong1p be def eated, B vt
(A) Invincible . |
(C) Indefatigable ,| (D) Insolvent 1
(E)  Question not attempted
All] (R 19 [ P.T.O.
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Identify the most appropriate antonym of the given word from below:
APATHY

(A)  Fervor (B)  Stoicism
(C)  Stupor (D)  Aloofness
(E)  Question not attempted '

Choose the most appropriate option from below to complcte the sentence:
A formal letter concludes with a -

(A)  Heading
(C)  Salutation
(E)  Question not attempted

(B)  Subject
(D)  Signature

1 form R Wh%ﬁ%mwnaﬁm%nﬂmw%Mﬁt{t VI 1 of 17 &t o arfer mar 87

(A) T T R, 1976

(B) Tt tfufaay, 1963
(C) T tfufyam, 1967 (D) T fm, 1973
(E) ufta wx

(A) TR YTy

q (B) I TEW
() SRR (D) 3T &Y
(E) Sguafawy

Which of the following language is not included in the Eighth Schedule of the Constitution?

(A) Santhali
(C) Sindhi
(E)  Question not attempted

FefaRaa & @ < WTST HfererT i et vt 3 e T &

(B) Nepali
(D)  English

(A) EYTAT (B)  ured
(C) T (D)  idsh
(E) 3rgafa wx |

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A)  Soumyajit Ghosh (B)

(C) Manika Batra (D)
(E)  Question not attempted

Kamlesh Mehta
Sharath Kamal Achdntn

(C) wl=F a (D) I A AF<far

(E) safauyg

Which one of the following is not a Fundamental Right under the Constitution of India?
(A) Right of Freedom (B)  Right to Education

(C)  Right to Property (D)  Rightol Equality

(E)  Question not attempted

Freferftaa & @ @03 a1 i dfrar % qea v siftre T2 2
(A) wEdFar 1 sfuesn (B)  Fraa a it

(C) dufd = siftrag (D) WWTAT &1 3 fRrey
(E) TJaidyd

® ‘ 20
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Choose the most appropriate option to complete the given sentence.

They withheld his results. He the proof of his age.
@J  doesn’t furnish (B)  has not furnished
(C)  had not furnished (D)  didn’t furnish

(E)  Question not attempted

Choose the most appropriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a,a, the, the (B) a,the,a,a

(C) the,a, , the (D) an, the, an, a

(E)  Question not attempted

Which of the following three years were declared as Plan Holidays from five year plans in India?

(A) 1969to 1972 (B) 1957 to 1960
(C) 1961 to 1964 | (D) 1966 to 1969
(E)  Question not attempted

TG 3 SNt DA T & e & @ S & i aut o) AT TR S forar T 4

(A) 1969 ¥ 1972 (B) 1957 € 1960
(C) 1961 ® 1964 (D) 1966 € 1969
(E) Jaiayd

Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-

5 Tfar 39 Teiea TSI fraTe gerar drear fefefaa 8 & fora o § yre &t 718 oft?

(A) 2012 - (B) 2006
(© 2007 (D) 2010
(E)  Question not attempted / aﬂﬁfﬁ 94 -

Rajasthan handicraft policy has come into force on
(A) 23 November, 2023 (B) 17 September, 2022
(C) 18 September, 2022 (D) 20 December, 2023

(E)  Question not attempted

TS gy A wran] gR
(A) 239499, 2023

(C) 18 fadsw, 2022

(E) 3fgaia 94

as established on: (Choos€ the most appropriate option from below)
(B) 1*'January, 2014

(D)  15%™ August, 2015

(B) 17 f&dsw, 2022
(D) . 20 fedsK, 2023

NITI AAYOG w
(A) 1% January, 2015

(C) 15% August, 2014
(E)  Question not attempted

ﬂﬁmﬁﬁmﬁnﬁaﬁ:(ﬁmﬁﬂwﬁwﬁm‘ﬁ)

(A) 1SHa, 2015 (B) 1SHad, 2014
(C) 15 m 2014 (D) 15371, 2015
(E) AJaia 9

21
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106

107

108

109

110

All ]

(A)  RRB - Agricultural Finance
(C) RBI- Luan crm Loans

(E)  Question uul, attempted
Freferfiaa 3 & aiera vt )
(A) I I Ak iy s

(C) I s, 3ng - dedamferas swor
(E) aqgﬂﬁmrf"'
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(B3)
(D)

(B)
(D)

IDBI - Shéft/Term Loans
SBI - Mmfcﬂry Policy

=

h L)
i
o
! ‘.‘;.
-
F

(L
‘3:”#. Q'T. Eﬂ;gﬂé - mﬁﬁﬂ? A
g, aft, 3rrd sitfen ifa

r—1

How many industries were reserved only for public sector before the dcrp;,uhtmn of the Industrial Sector in 19917

(Choose the most.&ppropriate option from below)
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fRafaiaa 9 | snisdier 1 3w w0 -

(A)  rfsfae (B)  arshfE

(C)  fsifar (D) rhfaE

(E) IORawy

Cooperative movement in Rajasthan region was started in the year . (Choose the most appropriate option
from below)

TSTEH 819§ HEHH A 6t AT af if g | (P 3 & el 39 faweT )

(A) 1914 (B) 1904

(C) 1910 (D) 1912

(E)  Question not attempted

Given below are two statements:
Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.

Statement (II): Sodium metal reacts vigorously with nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (I) is incorrect but Statement (II) is correct.

(B) Both Statement (I) and Statement (II) are correct.

(C) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) 1s incorrect.

(E) Question not attempted

= <t o fRg T E:

e (I): B g i it 3 e & s P ST & i 7 STt SRR g
FUT (I1): Tfean urg IS & YeerdT § Sfdfshar FidT 2l |

Suiies At ¥ el , 1 R g et i & WA Tuge SeCE

(A) A (I) TTeTd & SAfeRd e (I1) el &l (B) &Y (I) IR FHUF (1) =1 |al 8l
(C) A (I) AR FHUA (11) ST & 7Terd & (D) A (1) Gl ® ST w7 (1) Tera Rl
(E) AIaiaysd

Cyber security is also called, “Security of Information Technology™. It is used mainly to:

(A) Used to send letters by post

(B) Connect different computers together

(C) Used to share the resources on internet

(D)  Stop unauthorized access into various computers

(E)  Question not attempted

mwaﬁ,*@mmﬁﬁﬁﬂw',‘ﬂwmmwmmm%mﬁm

HATdT 8

(A) AT I e 30 99 & foru

B) fafir= et @it ua-gat @ sirgl

(C) T T HaTHT 1 3 i wied # wdT & feC
(D) fafir st & srfirg gqmm @ 4w & faC
(E) IJafiayu”
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115 In which year the Indian Space Rescarch Organisation (ISRO) was set up?
Fe=feRaa i § forer o 3 3fee v Pt ofiifATESITTT (ISRO) Y T & 718 off?
(A) 1952 O (B) 1962 e
((,G) 1969 (¥) (D) 1972 {f i
(E)  Question mﬁ:‘:ﬁlcmplcd / Gli?fﬂ?f aA b j
- 9
116  Which of the i‘ullmﬁﬂg facility is not provided by the Rajasthan Sampark Pnnaﬁ;f
(A)  Automatic §;Ecch Recognition (ASR) (B) * Grievance Rcdrész’iial
(C) GIS intcgrnl!_‘i; 0 and data analytics (D) Videu-canfcrcnéi_-;i;
(E)  Question nﬂ‘trhﬂucmptcd .
mﬁﬁﬁ?&‘ﬁﬁﬁmuwmm €Uk I §IT W2 7 oht Sireft 29 { £y
AN TR wig e (AsR) (B) bt %1 frver,
(C) St o1, UH.TehlehT 31K afienet a1 forsymor (D)  cfifear ki ¢
(E)  S7gaita way o

0

117 Fill in the blank bf-a"}nusing the most appropriate option:
He was indignant ¥

&g

-

being cheated by the smooth talk of the salesman. h%
| =

(A) at . ™ (B) with
(C) in - (D) of
(E)  Question no{t‘%}tempted ‘ o
(¥ v}
118 Change the direct s ¢ech into indirect speech by selecting the most ﬂpprﬂprlﬂféﬁ _'
He said, “I do not wish to see any of you, go away.” ;‘w*i
(A) Hetold thatthe did not wish to see us and ordered us to g0 away. ;S
AB)  He said thatthe had not W{Shﬁ’:d to see any of them and ordered them to gﬁ“aivay
(_C) He told that'le did not wish to see any c;f tl%ém aﬁci' ordered them to go ai*y?ﬁ‘y
(D)  He said that he does not wish to see any of us and ordered us to g0 away. |
(E) Question notéattempted ' O
¥} il
119  Change the sentenceinto passive voice by choosing the most appropriate optio Q;j1
They feed the seals at the zoo twice a day. E\
A7%)  Twice a day the seals are being fed at the zoo, (B)  The zoo feeds trg?
(C) They feed tllg_fefils twice‘a day at the zoo. (D)  The seals are fed.twice q ¢
(E)  Question not.attempted : ,..__;
120 In Rajasthan putlinh{g gold nail between the teeth is known as:- \D
(A) Borla M (B) Daamna )
(C) Baari [r:-j: (D)  Choonp ﬁi
(E)  Question not : I‘\
Hon noLaftempted 89
TSTEATT 5 felt 3 ol 3wt o) efiver e o avenr a0 s ey st &2 CY
(A) &Rem (B) &I -
(©) = ) (D) <9 4
(B) Irgaftayx
All]l X . 24
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In which Rajasthani folk dance, dhol, bankiya and thali are used as the main instruments?

(A)  Gair (B)  Ghudla A
(C)  Chang (O (D)  Dandiya U
(E)  Question not attempicd .
Ty & e ates Jog 1 g@ia, srifasar 3y ereft &1 wan ey are- Wﬂimﬁfﬂhm«nm{{”’
(A) [™ (B) e on
(C) = (3 (D) ifear e
(E)  Tqaia we L o
v -
L |
Where is Nataniyon Ki H;\;E{Ii situated?
(A) Lakshmangarh O (B)  Jhunjhunu LO
(C)  Churu (D) Jaipur (7}
(E)  Question not attcmptgd o
o ST gaelt el qrﬁ:ercr d 27 :
(A) TEHUTG '."ﬂ | (B) ¥ :
©) IF O (D) AR -
(E) Wﬁﬂﬁ 94 i 7=
- ™
Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P.Sarabhai  i(j (B) Potti Sriramulu \O
(C)  Sriram Gandhi {7} | (D) Ramlal Gaya E’?
3

(E)  Question not attempted
39 Ak &I A0 AR, 1952 7 Jodh A1 TF i T 3 9T Sm9@ wag 14 4, aﬂrwmﬁmﬂmﬁm

Tt < () o
(a) e & (B) W Ay -
(C)  Hrm e ﬁ (D)  THEATE T e
(E) HAqaiayd i |
LD \O
Given below are two statements: ("M
Statement (I): In the context of the revolt of 1857, the term revolt refers primarily ¥a'the uprising of the civilian
population. [ d [™

Statement (II): Mutiny was a collective disobedience of rules and regulations within the armed forces.

In light of the above staterients, choose the most appropriate answer from the npttons(g:\{ en below.
i

(A) Statement (I) is incorrect but Statement (II) is correct,

(B)  Both Statement (I) &iid Statement (I1) are correct. -
(C) Both Statement (1) fmd Statement (I1) are incorrect, k{,‘}.
(D) Statement (I) is cnrr?l but Statement (11) is incorrect, ot
(E)  Question not attempt ‘d “?;i'

#rar 31 #ud fau o ;
% (I): 1857 W(Wﬁ;mfﬁﬁﬁﬂmiﬂm’l@m Wﬁa‘mﬁ}oﬁwﬁ A

o (11): farse (=gfeeft) qamg areit & it fan site fafemt € e sy oy -

ST FAT o AT ﬂammﬁwﬁﬁﬁwﬁwwﬁl v

(A) (1) T & A g (1) wel B (B) &% (1) S awer (1) Srft ey 3
(C)  F (I) 3R F (11) 31 & rerd &) (D) &% (1) et R &t ey (11 rerr 2,
(E) .31’:!’?[&6"5[’31’
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: iven by henna?
Which of the following is responsible for the dark brown or reddish colour giv

(A) Hydroquinine (B)  Luciferin
(C) Meclanin (D) Lawsonc

(E)  Question not attempted

Bt T TR N g st e o 3 ¥y Prsrfeiaa f & e fasan w7

(A) T B) FfaH
©€) dafe (D) ©EH
(E) uRa wx

Zinc reacts with dilute nitric acid (aq) to give
frfafaa wfiwe & fore s o R o (aq) & wfafiran dar @
(A) Zn(NO,),+NO+H,0 (B) Zn(NO,),+H,0+ N0

(C)  Zn(NO,), +H, (D)  Zn(NO,), + H,0 + NO,
(E)  Question not attempted / TTAA T4

Which of the following is not a part of chromosome?

(A) Chromatid (B) Satellite

(C) F, particle (D) Centromere
(E) Question not attempted

HHEN (TEs) FT Fafaiad § & @ w1 o e @ 72

(A) wFmfE (B) ¥®RE
(C) U, wféFa (D) HfET
(E) A{aia 9™
128 Which of the following is not a Kharif crop? |
(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E) Question not attempted
Freferfiaa i & 7 0 @ts wae 7o 8
(A) 99 (B) HaHI
(C) «™U (D) N
(E) Haf@us
129  If ‘threat’ is coded as 2895 12, then *BRIDGESTONE' will be coded as:
TR “threat” F1 %1€ § 289512 waeh faran wran 8, w1 *BRIDGESTONE® %1 %78 €y,
~A) 29947512655 > (B) 27947513855
(C) 29947612955 (D) 28947612855
(E)  Question not attempted / 3ata wu
All]l X 26
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Amar and Akbar start walking in opposite direction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned

130
left and walked 7 km and Akbar turned right and walked 24 km. How far is cach of them from the starting point?
(A)  31km (B) 27 km \O
(C) 25km :;Q (D) 26 km ( ;
(E)  Question not attempted
maﬂrmﬁfﬁwﬂﬁf&mﬁ‘ﬁm Ryt | 3T 24 i, 1y, srer 3 srrar 7 6, o, “r‘n I T AaT At qa1
7ﬁatﬁamafltmaﬁgzﬁf}z4%tﬂamla‘r—‘hmﬁwﬁgaﬁrﬁr?ﬂw?f ff
(A) 31 f% O (B) 27 f. ot rj
(@ 25t . (D) 26 fF. . o
(E) uia s -
. O o
131 A, B, C, D, E and F are sitting in firow facing north. E and F are in the center, and A and fll»prc at the ends. C is sitting
on the immediate left of A. Whes sitting on the immediate right of B?
A, B, C, D, E 3 F U ufth # I 37 @ e o3 & E 3R FHz a8, A 3ﬁTB‘TT{'-'[T'E"I C. A % 3t afg w417
W37 21 B & 3t 14 T T I 3T 87 00
Ay D Cﬂ (B) E O
(©) (D) F ™
(E) Questmn not attempted Fﬁﬂﬂﬂﬁ 949 !
132 Select the option that is related tn the third letter cluster in the same way as the second I:{ttger cluster is related to the
first letter cluster. ‘
= 7 & 39 faseq &1 =3 ﬁﬁg‘aﬁ?ﬁu Wmﬁs@ﬂmmﬁ%ﬁﬁmﬁm%wm et THE H
YA ) -
WOUNDS : DNOSUW : : ALMIGHTY : 7 o0
75y SG?ITH]\AATY Cﬂ (B) AIGHTYLM -
(C) AIGHLMTY (D) AGHILMTY -
(E) Question not attempted /i /‘GTa?lﬁT"f —i
133 There is a definite relationship between figures (i) and (ii). Establish a similar relationship between figures (i11) and
(iv) by selecting a suitable ﬁgurgfmm the options. So select a figure from the options that would replace question
mark (?) m <
STF (i) AN (u)%aaﬁa@ﬁrﬁﬁm%l ferepedl # A IUYh AT 1 TG T ITHI (ifi) ST (iv) F 1= FHH Haw
w1fud & ﬁﬂqf&mﬁﬁﬂﬁmﬁrmwﬁa’mﬁmm@mél OO
Problem Figure / @& 31'@[’?‘[ iy 3
i
\0
(1) (i) (i) L0 (iv) M
(V) P ot
| | N (1 0 ‘ -
. @ F — <D ' o0
— 00 - - -
) .y
B i @ ¢
_’ 1 -
(E)  Question not attempted / aﬂﬂﬂﬂ A |
All]l X a [ P.T.O.
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134 On increasing the numerator of a fraction by 15% and decreasing its denominator by 8%, the fraction becomeg 1S

i ne 1
the original fraction is: 16

| . 1D .«
afe e =1 % syt ay 1504 a1 faa st 3 g vty 8% wren faa s = am — am%":@ﬁh%

i 16
w Y ® Y
S Y o Y%

(E)  Question not attempted / 3ﬂﬂﬂﬁ 9

135 Amit, S —al
amﬂuml;‘:; ;gg .Vmay divide an amount of ¥ 2800, amongst themselves in the ratio of 5 : 6 : 3 respectively, |y,
3tha giia i é;:d: vy t;: share of each, what will be the new ratio of their shares of the amount? "
: 28001 SART AT S : 6 2 3 2 Srarar & e o & > 321 :
A | U Tdd 81 Al v & T 1 T 2003
ﬁﬁnm%mﬁmwaﬂmmam 200375 fry
. i D) 7:8:5
(E)  Question not attempted / 314 go
136

(B) Mahatma Gandhji

(C) C.Raj Gopalachar;
) Gopalachari (D)  Sardar Vallabhbhai Pate]

(E)‘ Question not attempted

AT I 5 TEe SU-TUAwT 38 7 ol i o
(A) TH 31Ene fheas (B)  W@TeHT Tiefy

(C) Hi. U Tem=Td (D) r

(E) rgafaux il

137 After the partition of India in 194
7, which of the followin arch ' ' -
(A)  Kalibangan e ogtealsites remained on the Indian side

(C)  Mohenjodaro
(E)  Question not attempted

A) e Wﬁiﬁwﬁm%%ﬁﬁmwo
(C) wrETsEs (D) TaaTEr
(E) Hqaf@uy

138 Who is

the family deity of Bikaner royal family?
(A) AaiMata

(C) Jeen Mata
(E)  Question not attempted

(B) Kami Mata
(D)  Sakraya Mata

aﬁqzﬁmﬁtmﬁnﬁwg?
(A) 15 grar
(C) St g Eg)) mﬁwn?m
(E) Squftauy
All ] ® 28
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139 Poona Pact 1932, was associated with which of the following Leaders?

(A)  Mahatma Gandhi and Dr. Bhim Rao Ambedkar
(B) Mahatma Gandhi and Muhammad Ali Jinnah
(C)  Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah
(D) Mahatma Gandhi and Pt. Jawaharlal Nchru
(E)  Question not attempted
QAT W, 1932 fferRaa o & foem Jaren @ waifia am
(A) T iH U L e aralgEt
(B)  WETcHT TTiEt 37N e areft o
(€) . YT e e qemg orelt =
(D) Wt it U Yfed Saretere aw
(E) Qi
140 Who established Depressed Classes Association?
(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar (D) Jawaharlal Nehru
(E) Question not attempted
gfora ot d@req, feraa wenfua feram?
(A) HEHE Il S | (B)  HETcHT TITeft
(€) Sifue e (D) VAR E®
(E) 3TJaia %

141 SVAMITVA Scheme is associated with

(A) Soil conservation in rural areas.

(B) Water conservation in urban areas.

(C) Demarcation of inhabited land in rural areas.
(D) Property survey scheme in rural areas.

(E)  Question not attempted

(A)  TrHtor SRt 7 faEt 6 HeE

(B) Y&l 3Tl 7 SIS WA

(C)  TToT STt § TG {H T HHE

(D) T STt | gy GA&ToT QST

(E) Jaia9d

142 National Panchayati Raj Day is celebrated on

(B) 20 April

S B e
(E) ‘Qucstion :g;t:temptcd PR AL

Tw (B) 20 37
(C) 223« (D) 24 30
(E) Iraiawd

29
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143 Which of the following is not a Constitutional Body?
(A)  National Human Rights Commission O
(B)  Union Public Scrvitt'Commission (")
(C)  Finance Cummissigﬁ? =
(D)  Election Commissi;ji‘ L™
(E)  Question not nttcm%al::d .
0 Q2 s v e &7 <
(A) mﬁﬂma'rfhm&r%c?m "
(B)  HY S dar 3w a
(©) = amam
(D) T 3mam WO \O
(B) gehawa )
< N
144 The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is < 75 Oég‘l hat 1s the simple inter,.
same sum for 8 years, if th%?rate of interest is increased by 2.5%? (:'}
AR 7.5% TF A A A 8 9T 8§ T TRTI T 7,500 VLT AT ST 21 A8 36 ST A 2.5% 771 o
T 8 IN1 H WTLROT =41 au;rf : :~;
(A) I 12,000 (B) ¥ 20,000
(C) < 12,500 O AD) 10,000 O
(E)  Question not atteinpt’qd / AT T (")
= =
145 ST O ¥ 0 35 e 1 e - e S S e e s e a sy 49
(A)  PiER o (B) wEE®X 0
«C)  dnfw = D) Ew Q
: R
(E) Iqaiaus - —
146 f=fafEad | e TG $hT W Hiv e @- (O
(A) T+ (B) o +3my ;—;
(C) fom+2w = (D) 99+ 3wy ENy
(E) srufawa e S
() 0

147  Which of the following stAtement is not correct about the Chhota Nagpur Plateay Intru;rial region?

(A) This region owes ifs_i:levclopmcnt to being rich in iron ore from Jharkhnnd-&ﬂgha and coal from Da
Valley. ™ ™

(B)  This region is popularly known as “Ruhr of India”.

WENS \{) '
(C) Thisregion cxtendsip;ucr Jharkhand, Chhattisgarh and Andhra Pradesh. \0

(D)  Ranchi, Dhanbad, 9 aibasa, Sindri are some important industrial centres Gfth(g)region
(E)  Question not altchlgd ™ |

ﬁnﬁﬁaﬁﬁﬁmm@awwmﬁﬁmm%mﬁWW%?

be
() ¥ ot s s e e e e R )
(B)  TE &7 “uId & weey, m @ faneara By mmﬁj:{ o
(C) uzmﬂnm.mamammmmgmm -}
(D) w.m,m,rm.mmzm sftenfie dx &)
(B) srgafa sy
All]l @ 30 P
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148 Which of the following statement is nof correct about the Tertiary Coal?

(A) Itis found in the rocks of the oligocene period of the Tertiary Era.

(B) Itisalso known as the brown Coal.

(C) Itisan inferior quality Coal.

(D) It contributes to about 25% of the total coal production of the country. [
(E) Question not ﬁttemptcd

(C) T& 11 e T e grar 2 y
(D) TE 3 o TA hIAAT AT F 25% 7 Siv1arT e 21
(E) arass
149 Karewa formation are useful for the cultivatit:;n of
(A) Coffee '
(B) Zafran/Saffron ,
(C) Cotton
(D) Jute

(E)  Question not attempfed

HGT FA1aE (BIYE) fraeht @t & foT sganti 22

(A) T * | ‘
(B) &HT |
(C) =™
(D) =I2
(E) rafa v
150  Which of the following river is right bank tributary of the Ganga River System?
(A) Ghaghara
(B) Ramganga
(C) Son ’
(D)  Gomti S

(E)  Question not attempted

Freaferfiaa i & 7 ot 71, 7im 71 orreht 1 e Wew T4 82

(A) =M

(B) Twmmm

(C) =m

(D) el

(E)  rgafaug
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